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RNEX EkgBMTELE L & 3,
(1) Ikg 3459 = T
(2) 839 = K9
(3) kg 2179 = kg
(4) 3kg Ig = kg
(5) b560g = Kg
ROFEITETmEAATERLIL LD,
(1) Im 28cm = m
(2) 8m 7lem = m
(3) 8lem = m
(4) Tm 75cm = m
(5)  47cm = m
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B &aEr ( )
(6) Tkg 276g = Kg
(7) 83lg = Kg
(8) 59 = kg
(9) 9029 = Kg
(10) 6kg 3679 = K9
(6) T9cm = m
(7 12m 3lcm = m
(8) 40cm = m
(@ 9em = m
(10) Tm 78cm = m
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RDEIZkgBEMUTELI L L I,

(1) lkg 3459 = |.345 kg (6) Tkg 2769 = 7.276 kg
(2) 839 = 0.083 kg (7) 83lg = 0.831 kg
(3) 9kg 2179 = 9.217 kg (8) oJe = 0.005 kg
(4) 3kg Ig = 3.001 kg (9) 9029 = 0.902 kg
(5) 560g = 0.56 kg (10) 6kg 3679 = 6.367 kg
RODEIZmBEMATERLEL LD,

(1) Im28cm = 1.28 m (6) T9cm = 0.79 m
(2) 8m 7lem = 8.71 m (7D 12m 3lem = 12.3] m
(3 8lem = 0.8 m (8 40cm = 0.4 m
(4) Tm 75cm = 7.75 m (@ 9em = 0.09 m
(5) 47cm = 0.47 m (10) Tm 78cm = 7.78 m
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